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Question 1: Using Double integration method, Answer the following questions

For the following beam: Determine
e Maximum deflection of the beam in terms of w, L, E, and I.
e The rotation of point B, if w=10 kN/m, L=5 m, E= 75 GPa, and | = 4x10% mm?*.
e The minimum moment of inertia (1) so that the maximum deflection in the beam doesn’t

exceed (Apgy = ;E)’ if w= 20 kN/m, L= 6 m, E= 200 GPa.

For the given frame Determine:
e The maximum horizontal displacement (sway) of the frame

e The vertical deflection of point D.
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Question 2: Using Moment area method, answer the following questions

For the following beam, Determine:
e Deflection at point C.
e Deflection at point B.
e Rotation of point B.
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For the following beam, determine:
e Deflection of Points B, and E.
e Rotation of points A, C, D, and E.
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For the given beam, determine:
e Deflection of points B, and D.
e Rotation of points A, C, and E.
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Question 3: Using conjugate beam method, answer the following questions

For the given beam, determine the minimum required moment of inertia so that the maximum

deflection in the beam doesn’t exceed A4 = 2%.
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For the given beam, determine:
e Deflection of points B, and D.
e Rotation of points A, and C.
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For the given beam, determine:
e Deflection of point B.
¢ Rotation of points A, and C.
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